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Answer any two questions :

1.

4.
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English Version
Group - A

10x2 =20
What is operon ? Describe the organization of
lac-operon.  Explain negative control of
lac-operon. 2+3+5
Distinguish between deletion and duplication.
Explain with suitable diagrams, the origin and
meiotic behaviour of paracentric and pericentric
inversion heterozygotes. 4+6
What is dominance ? Describe the different types
of dominance with examples. Explain with
suitable example, dominant and recessive
epistasis. 1+3+6
A plant with the genotype AaBbCc was
crossed with a plant with genotype aabbcc.

1000 progenies were classified as follows :

aBC — 42

Abc — 43

ABC —140
abc — 145
aBc — 6

AbC— 9

ABc — 305
abC — 310

i) Find out the gene order on the

chromosome.
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Answer any three questions :

S.

ii)  Calculate the map distance between the

three gene loci.
iii)  Calculate the coefficient of coincidence.
2+6+2
Group - B
6x3=18

State the properties of genetic code. Write a note

on Wobble hypothesis. 3+3

Distinguish between autopolyploidy and
allopolyploidy. Explain with suitable example,

the role of allopolyploidy in origin of new species.
3+3

What is crossing-over ? Describe the experiment
used to prove the cytological basis of crossing

over. 1+5

What is meant by multiple allelism ? Explain the
concept of multiple allelism with a suitable

example. 1+5

Define cytoplasmic inheritance. How does
cytoplasmic inheritance control male sterility in

plants ? 1+5
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10. Explain Neo-Darwinism with the help of

synthetic theory of evolution. 6
Group - C

Answer any four questions : 3x4=12

11. Distinguish between coincidence and

interference. 3

12. Differentiate between homologous and analogous

organs with examples. 3

13. Write a short note on the inheritance of the

disease haemophilia. 3

14. State the differences between double monosomic

and nullisomic. 3
15. Define cistron, recon and muton. 3
16. Write a note on Lamarckism. 3

17. What is back cross ? 'Test cross is a type of back

cross.' — Explain. 1+2
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18. Distinguish between complete and incomplete

linkage with suitable examples.
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